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3= 96.6 98.3 96.7 94.9 92.9 94.3 93.2 91.1
=AM 98.8 99.7 99.1 97.4 97.1 97.4 97.0 96.9
i etE= 99.4 99.5 99.5 99.2 99.4 994 99.4 99.3

¥ QAR = 95% MEFE, EFEL2A £0.82%

_11_



> AIA A&7}

BN =D20EY MHIA |

1 23EAEA AMu) =

@ (B7FA) KT, LGU+, SKB, BlEZ=, X<, CJ=Zn]A
100Mbpsw ZAEAHY W A F7F

@ (BHAE) [t 2 FTATE ASEE B 2T YNFAZ
HEF oMY AEsE

-

< ZHRQIHY HIKK|E >

Ho} X & M g
gﬂi%l' AT ol oq = X o IS A et
oy | HESE CHET|-ALA A M F2he| Hole S8 £
apqmapt | EXZE EIRTI0l BAOIE FAS eledst AFHOMRE ST
ST T MHoolX] stHol BE EAIET(ZHX] == Az
EH%EO& = of [=R=13 ol (=) — /od 24 = A
272t ojma [CIEAE EZVIM HEZ oldS tiZEE/ER=0 Zels B
=

HEEE |0|SA} lHU S ol mf ZHAIAXL MK 2] S48 &

-
1

=3

Do | HESE (MeNSATAslel M P2hel Hole S S

o

@ (FNAY) AGA ALHrLE e {qitW AEEEE A4

h o

PHGOR FASL 2T YABALE TLAYAER T

_12_



o (YT TEEEE W7

) .

99.8Mbps, HEE+ 99.8Mbps= LEF

< ZRHAHU ApAFZE B E S Z(Mbps) >

T = & T
Clez= 99.8
Az = 99.8

e Hi 0.7%(139 1.0%)°|H, tl&F ojH Y
T 86.3Mbps, EE 94.1Mbps=E UELE

< ZOHQIHU MFZE HAMEAZHE) >
Ho|l =gl E& 2lE
T2 @@ Hol ci2 72 Aokl 24 R5u - oplz & - 2%
A5 28 Eg2| o3
M| 07|07 06 07 07 06 11 13 04 04 11 06 07 05
< ZREQIHUY M7 MEEE(Mbps, ol 820l ) >
e A o] o =E
= CIe2E  Q=2E | C22E  Q2E | Cig2E  =zcS
b 86.3 941 85.2 93.3 87.3 94.9
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PSS =AM 19
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3G SMEs VoLTE
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RpAFT 2 EFAF 2} RpAFT 2
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